
Test 26 Test 27 175 Test 28
1) 68 + 10= 40 1) 2i (352) = ¥ x ~ = 38150= 3,850 sq. in. .3....W+7=19 \s '8 5

68=30 ' 1) 7) '8X'S="1=5
1/6 . 68 = 30 . 1/6 2 22 ~ 220 .

15

8=5 2) -xyx-=-=220 In .3....W=12
~ 5t9 'tS's! 51 1 _1 . 15 8)

2) 6(5) + 10 = 40
3) 22 ( 2) = 22 x 25 = 550 = 78 ± sq ft

1.§.. .3....W = 1Z. .1.§. x "'3 x "'8'l1=1" =5
30+10=40 75 717 7·· 4 15 1 4

11+ ~ = 11 x':[4= 44 = 11l40=40
£ x 22 x§.= 220 = 31~ ft

W= 180 9)

3) 8N-13=3
4)

1 7 1 7 7·
4 18 8 9't8. 3 27 27

8N = 16 507 W= 45

1/8 . 8N = 16 . 1/8 5) 2i (632) = ¥x ~ = 12~74 = 12,474 sq. in. 2) 1~ (45) + 7 = 19
10) ~+..§.=9+5 =~=1±

2 2 1 5 5
N=2 9

4) 8(2) - 13 = 3 6) £ x ~ x 00 = 396 = 396 in .3....(45)+7 =19 11) 48 oz. > 32 oz.1 1 1 .
16-13=3

15 1

3=3 7) 2i (32) = 2i x~ = 1~8 = 28~ sq. ft. 180 + 7 = 19
12) 1,056 ft. = 1,056 ft.

15
5) 6C+8=50

£ x 22 x ~ = 132 = 18.§. ft 12+7=19 13) 1 qt. < 2 qts.

6C=42 8)
1/6 . 6C = 42 . 1/6

1 7 1 7 7· 19 = 19 14) 2+4+6+8=20

C=7 9) 5R - 17 = 38 £R-5=5
20+4 =5

5R=55
3)

3
6) 6(7) + 8 = 50 1/5 . 5R = 55 . 1/5 £R =10

15) 1 +3+5+7=16

42 + 8 = 50 16+4=4

50=50
R= 11 3

6 x t9~~=1Z.=1..1
10) 5(11)-17=38 ~·.£R=1Q·l. 16) 8+10+12=30

7) 55 -17 = 38
2 3 1 2 30+3=10g: "'3 11 11 11

38=38 R = 30 = 15
1x2-xN~..§. 2'l4 's 2

2 17) 2i (282) = 2i . 7~4 =8)
~ 1'2 7 7 11) ~x"2"=1"=2 £(15) - 5 = 5
l+JL=~x2§~..§.

4) 2464
9) 's 7 '9'G 7 1

3 -1 - = 2, 464 sq. yd.

5 25 8 8 12) '3x~x'tQ2=2=32 ~cn-5=5
10) .20 + 20 = 2Q x.L = 1. = 2.1

4

13) L+ L = ..Lx4f6=.§. = 11 30 -5 = 5
18) £ x 22 x 2s. = 176 = 176 yd -;

3 7 3 zc 3 3 1 Y 1 1 .
10 12 'tQ5 5 5 3 CD

(f)

11) 3 x 5,280 = 15,840 10-5=5 -
12) 7 x 16 = 112 oz. 14) 22 + 1. = 22 x ~ = 198 = 5 23 19) l1xl1xl1= 1331 = (f)

13) 15/4 x 12 = 180/4 = 45 in.
5 9 5 7 35 35 5=5 4 4 4 64 0

2051 .
c

14) 21/4 + 31/4 = 5 2/4 = 51/2 15) 19 qts. < 20 qts. £·.1X=.1 . .£ -5) 64 cu. In. o·
15) no 16) 6,000 Ibs. > 5,000 Ibs. 1 2 1 1 :J

(f)

16) 2 x 2 x 2 x 2 x 3 17) 3,520ft.<3,720ft. X=§.=8
..

20) 28 ~
17) 18:aa,6,9,18 18) 8±-6l. =2.1 mi

1 CD
(f)

24:2,a,4,6,8, 12, 24 6 6 6 .
~(~)=4

-6) I\)

GCF=6 19) 13/6 x 5,280 = 68,640/6 = 11,440 ft.
0)

18) 3/2 x 3/2 = 9/4 = 2 1/4 sq. mi. . 1 '4~ 5 5 . §.=4 ~
19) 16x16=256 20) ~ x"1 x"2"= 1" = 5 sq. In. 2 CD

(f)

20) 30 4= 4 -I\)
CD


